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1) Most likely the window Mechanical Support Dept. (MSD) will use is Ti. 10mils
   (They may also explore the possibility of Aluminum.) 

2) Linac protons/pulse: 

Worst Case Scenario: Linac Beam Study pulses 
Linac current: 35 mA (operational) 
Linac beam width (for STUDY pulses): 20 usec (twenty micro-sec) 
Linac repetition rage (for STUDY pulses): 3 Hz (operational). It can be up to 15 Hz. 
                            proton/sec 
20usec @ 3Hz      1.3E13 
20usec @ 15Hz    6.5E13 

Possible accidental scenario: low energy chopper off fails. 
Possible to reach up to 50 usec of beam width @ 35 mA = 1.9E13 proton per pulse 
(most likely could be one pulse only under this accidental scenario) 

3) Beam spot size:  Horizontal:  ~ 4.0 cm   Vertical:  ~ 5.0 cm

4) Instantaneous heating of the window by the 400-MeV beam.

An instantaneous temperature rise in the center of the window is about 0.4 deg. C per pulse, so that at repetition rate of 15 Hz one has about 6 deg. C per second.

At the same time the accident @ 1.9E13 proton per pulse does not look dangerous as far as only one such a pulse is expected.

It means an instantaneous temperature rise of about 1.6 deg. C per pulse. (By Igor Raknov)

5) Ti window placed in front of the wall:

The only issue one can see from the distributions is related to the star density under the beam absorber, namely ~2*105 star/sm3*sec.  It might be off by a factor few, I guess, but it is not associated with the Ti window which gives rise to an extra beam scattering/spreading. (By Igor Raknov)
